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Cat PHYI'SICS
ategory -1 (Q.1to 3
(Carry 1 mark each, Only on:y (Q.1t030)

Y Option is correct, Negative mark:
1. The velocity-time graph for a body of masg 10kg is shown in
on the body in the firgt two seconds

. the figure, Work done
of motion ig

10kg 3 717 o 3wy RIaLE mfsafbﬁ’rmﬁmmv;mm AN 4% G

[ TR eI AR 21 A

50 mis—» N

wET

0 \f> i(s)

108
(A) ~93007 (B) 12000 J
(©) -4500] (D) -120007

2. For a domestic AC supply of 220 V at 50 ¢

ycles per sec, the potential difference between the
terminals of a two-pin electric outlet in a roo

m is given by

220 V O 50 A3 aﬁmmma.ﬁ.mmmmwmﬁ
10 Pz g Req o ==

(A) V(1) = 220/2 Cos(100xt) (B) V(1) =220 Sin(501)

(©) V() = 220 Cos(1007t) D) V(1) =220 v2 Cos(501)

(=] g [w]
3. A radioactive nucleus decays as follows:

If the mass number and atomic number of ‘X 4+ are 172 and 69 respectively,

then the atomic number
and mass number of ‘X’ are

G (sEfn Ao RetReer R ¢
X-5x-5 x,- % X, -1y X,

oy 172 O 69 W, O ‘X971 A e @
M X, 97 STERY! 8 ARIES TR I R

STRYI I
(A) 72,180 (B) 69,170
(©) 68,172 (D) 70,172
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4. A single slit diffraction pattern is obtained using a beam of red light. If red light is
replaced by blue light then
(A) the diffraction pattern will disappear.
(B) fringes will become narrower and crowded together.
(C) fringes will become broader and will be further apart.
(D) there is no change in the diffraction pattern.

Gl G @ ol SATES Hew! #iNew (o1 e T WA G | T AT I -
et Aot QiEArF 3 TR 321 W, SR Of ;10

(A) S#136 Fem Tave = WA |

(B) eefm @y I TR ¢ Wiz Favadf 73 |
(C) IRTRLFT (RY RS A @ I G7a A WA |
(D) S#AE NG @I RS &17ea =1 |

2
5. The variation of density of a solid cylindrical rod of cross sectional area a and length Lis p =p, 5—2— ;

where x is the distance from one end of the rod. The position of its centre of mass from one end
(x=0)is

2 L0 Grerpls woad e L 43 et crawe o | Wood 93l AR (x = 0) (US> “x’ FATG
GRS p=p0§ @ (R SR (x = 0) (U= SR FAY TEI—

—L 5/ Cross sectional area = o
O CC (2FRITA (g
2=0
" ZTL ®) % Of- ‘El
p 3L [w] o2

6. A simple pendulum is taken at a place where its distance from the earth’s surface is equal to the radius

of the earth. Calculate the time period of small oscillations if the length of the string is 4.0 m.
(Take g = n> ms~ at the surface of the earth.)

RN e ARA T T AT < 3Fe (R TR e e | 1 et o 4.0 m. 7
OIT (=6 (et RS &0 (Tieraie T3 ¢ [403 6 @ RA 4TS g = 72 ms?

(A) 45 (B) 65
©) 8s D) 2s
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7. Consider a particle of mass 1 gm and charge 1.0 Coulomb is at rest. Now the particle is subjected
to an electric field E(t)=E, sinotin the x-direction, where E; =2 Newton/Coulomb and
o = 1000 rad/sec. The maximum speed attained by the particle is

1.0 3T WYATE B TSN T S 1 gm B SZITS TR | x5 IAIRA D SfGTe 247 21
E(t)=E, sinot , @A Ey =2 Newton/Coulomb <R o = 1000 rad/sec | &1 3 41fs 2

(A) 2 m/sec (B) 4 m/sec
(C) 6 m/sec (D) 8 m/sec ]
[=]

8. The minimum force required to start pushing a body up a rough (having co—efﬁc_iint of friction p)
inclined plane is F‘l while the minimum force needed to prevent it from slidingis F, .Iftheinclined
plane makes an angle 6 with the horizontal such that tan@ = 2, then the ratio R/F, is

o Tewa A G TCE BT @IS (A F I SIS PO 2 | I 62 IR IECS OO
RIT Aed GITS Fy <1 ofzaIo! 2T T | TR ST K T T @ 1T R ToSH G
AT O (Pl I A, OR F GR F, -2 SwAS (F/F, ) T (tan0 = 2y &76)

(A) 4 B 1
© 2 D) 3

9. Acceleration-time (@ — 1) graph of a body is shown in the figure. Corresponding velocity-time
(v —f) graph is
-1 Tl Beg it 22 | KRB @A (v - 1) @RS ==

3B IBF I (@
a A
— | I' (=01 =]
i i i s @ (=]
v ‘r v A
(A) = ; /
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:ng UP with an acccleration 21[E324[E]

aswclwimisﬁmdwthcc:ﬂmgofmdcm ction of the WirC 18 2 cm?, thcni-El
and a Joad of 10 kg hangsﬁ'omtheotbcfcnd-lf‘bca,‘,uss_ 5.0 x 10" N/m?) i
longimdinalsuainin:hcwimwiubc(g=10m!s=nnd = |
maﬁmmmquswmmwm <
mmzm%uﬁaﬁmﬁwsamw T

fgfa TH TA (g = 10 m/s? @R Y = 2.0 x 10" N/m)

# Edutips

10. Onc end of

2miscc’

({0 ke]

(my ax10°

(A) 4 x 10"
(D) 2% 10°°

(C) 8x10°¢
(hat the cscalator was not working. She walked up the

she remains stationary on the cscalator
The time taken by her to walk up with

11. Ruma reached the metro station and found
stationary escalator with velocity vy intime £;,. On other day if
moving with velocity vy, then cscalator takes her up intuncty.

velocity v, on the moving cscalator will be
wwmmmmamm(W)wmmm&zmm

v,mm;.mmm:wa@am,mﬁum&ammmm
A SISER 29 1, 7R | 1 5Y P v, SRTAT1 B R G2 IR SIEFR FALT ARY A

41, ti
(RY "= s 1 W
f:‘-fl (B) fz +fl
h—-0h f, +1
© —2 At
b+ © 3y -us)

12. A quantity X is gi a i
quan .ty X::; glm by 50’»"&"' « Where g, is the permittivity of free space, L is the length, AVis
a poteatial differcnce and At is a time interval. The dimension of X is same as that of

iﬂm’fﬁ‘ﬂﬁ.’(ﬂ‘{ﬁzﬁ AV

1 gpl— W TNR |

. | A | g B ] AT wfGersure .F
avaﬁmm,m‘@mmmam_w. X & ”ﬁ?‘k RS,

(A) Resistance
e | (B) Charge

(C) Volage ~e
Ry | (D) Current
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13. A diode is connected in parallel with a resistance as shown in Figure. The most probable
current (I)—voltage (V) characteristic is -
I BT FNTAESIR I RIEE 7% B anffe 16 wige I AR A
2l (D-Rew (V) e 2@

R
———— AWWWA——
N
V1
Diode ‘LI
: } E E
¥ Eg%.
I T Ia
(A) >V ®) >V

(©) >V (D) >V

EI%EI
QoLEC

A The inimum wavelength of Lyman series lines is P, then the maximum wavelength of these lines

o et crateafer s ©TAUE P 20, GO TS wamend w

(A) i; N -
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.+ o the ground state an="==-
second Bolhr orbr This photon
jumps from the O form of a photon. This P
in Hydrogen 2107 N is radiated in the
15. An electron n

i i tial is (Energy
difference between the energics o.f i alis4-2 eV, then the stopping poten

2 ’

’ g ‘l{FG =- Q—QEV )
frai oA (stopping potential) A (‘S oI AR n? -
| B) 4V :
A) 2V o %ggﬁ !
©) 6V

f ' . rections indicated in
16. Six vectors @,b,¢,d, € and f have the magnitudes and directions 1n
the figure. Which of the following statements 18 true?

B 4,5,6,d,8 9R [ RED m@ameﬁﬁﬁﬁwmlﬁsﬁﬁ@mﬁqﬁfﬂﬂ%?

—
' 4

. =
r

o c
g B
d f
. T _e. i i
W) b+e=f ®) b+e=f
© d+e=f D) d+e=f
R
[l
17.

A ball falls from a height k upon a fixed horizontal floor. The co-efficient of restitution for the
collision between the ball and the floor is ‘e’. The total distance covered by the ball before coming
to rest is [neglect the air resistance)

3 39 *h* B! (A R T G Bt A | Gl 3R TR S SRS Qe e T, T
mwmmﬁmuﬁi@mmwmml

(A) 1-¢, 1+
e
1+(22 (B) gh
7 1-e
1-2e
©) h 2
1+ ¢ (D) lf_zi_h
1=¢*
AXRDOOXRRDIBOVLB LRGN Y g ’
Sl RS sk : ke JaosiE el “.@ o s = GET IT ON .
G edutipsin Q mﬁaﬂmaasmmﬁmwmﬁ-munpsaﬂ?@%nmwm!

® Google Play



/2 Edutips

PC-2025(9) E%ﬂ,
NP
. Manufacturers supply a zener diode with zener voltage V, =56V andmmmumpowerdlss'a“ ;

Ill‘ﬂlrlv

W . This zener diode is used in the following circuit. Calculate the minimum. value of the :

rcsmtance R, in the circuit so that the zener diode will not burn when the input voltage is '_;_:-._;
Va=10V.

memﬁ%mﬂmmv -56Vtﬂ?l'<"|ﬁf$wwmi

(maximum power dissipation) P;mx:Zw <A ﬂimmwﬁﬂﬁme)W
A TR | 9D (SI6% V, = 10 V &, TN 3 @1 (R,) TSNS AN 23

@ (SN ©IECh #rs 7 ¢ EI'H'EI:
Rs 6 mA OF e
+.—
+
= 10V Z /ZS/ d/) V,
(A) 9856 Q B) 170:52Q
(C) 30621 Q (D) 41237 Q

(=]
19. Aforce F =ai+ b}' +ck is acting on a body of mass m. The body was initially at rest at the origin.
The co-ordinates of the body after time ‘#’ will be

T m GG IGA G F =ai+bj+ck A = 296 = | 2t i wrgm e wrRege
RSN S1ES AP, O ‘' T A TEH YT I

A) af?® bt cf? ®) at* bt* ct?

2m’ 2m’ 2m 2m’ m’ 2m
© af® b ot D) at> bt? ct?
N m’ 2m’ 2m 2m’ 2m’ m
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20. Figure shows the graph of angle of deviation d versus angle of incidence i for a light ray striking |
a prism. The prism angle is

B D PEwr P (3)-sieied @ (i) e Fott 3@ | ©F feiba @it Ii9—

5 4
AP -sesaraae :

‘; SEI?-' &
"-. . Iﬁ%
15° 6°

(A) 30° (B) 45°

(C) 60° D) 75°

21. Two charges + g and — g are placed at points A and B respectively which are at a distance 2L apart.

Cis the mid point of A and B. The workdone in moving a charge + Q along the semicircle CSD (W;)
and along the line CBD (W,) are

+ g R — g WA 5 2L FA0T A1 40 R A @ B (9 SRS | A @ B-97 Wy C | 9 wigiH + 0

4@ CSD #itd @ et (RS CBD #td e @re 31w 90 3 TG (W) 9 (W)
(Wy) GR (W) ¥ T

El%
- B
- e, [=]
§ 2L —
k— L———— ] —
03 Qg '
(A) L 99 99
6mey L (B) ;
"o &EOL 47‘:60.[: 47!6014
1 Qg |
©) A 99
6 L1 "
| ney Ll 12ney L D) ane, L 0
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22. Which logic gate is represented by the following combinations of logic gates?
A I fora st eibeRm e @ altd (e @RIE TR? |

Ao— >0
D—o Y
Bo—{ >0
(A) NAND (B) AND
(C) NOR (D) OR

23. The number of undecayed nuclei N in a sample of radioactive material as g flmc'tion of time (?) is
shown in the figure. Which of the following graphs correctly show the relationship between N and
the activity ‘A’?
G CORTHH AR SrH© ST T (W) T (1) A RIS B (R ST | NBF
@R SPFe AT R (N) @ (oEfgae! (A)-a3 7o SToFeIa Ao 2

N A
. §
. A
) N
(A) (B)
. A s A
y \
N N
(© D)
| | . A - A
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. p-T dia &
1 hown HIP by
24, Yoran ndcnl gas, u eyelic procoss Aok TS %vram = ehTE
would be i P-T o P-V
e o @ w1ad B ABCA ba
Py
B A
EI'%E] |
| 'C —T P [=]r:
P *
B
(B)
(A) C.v
L€ Y ]
P 1F
B . A B —A
o| S} > \%
Cc,V CyVv
opAs
[=]7s-

25, Theresistunce R= -¥- where V =(25+0.4) Voltand 1=(200+3) Ampere. The percentage error
in ‘R" is
ca Rm_‘_’_ QIR V = (25£0.4) (SPB @38 1=(200+3) SHF»R | R’-q2 <o &

'_' (A) 1.5% . (B) 1.6%
©)30% " - - (D) 0.1%
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26. A particle of charge ‘g’ and mass ‘m’ moves in a circular orbit of radius ‘7’ with angular speed ‘@’
The ratio of the magnitude of its magnetic mmttoﬂlalofitsangula:momnmmdependson
2 TE e IR ‘o’ B o @2TR | 3% W ‘g’ AR S ‘m’ | T A
W*r’imwemwwﬁm%am-

(A) wand (£32) q (B) ®, q and (4R) m

(C) gand (£3%) m (D) ®and (£3%) m

"
OkE

27. The de-Broglic wavelength of a moving bus with speed v is . Some passengers left the bus at a
stoppage. Now when the bus moves with twice of its initial speed, its kinetic energy is found to be
twice of its initial value. What is the de-Broglie wavelength of the bus now?

@ﬁvmwmmﬁﬁmx|memﬁqﬂmcmaﬁﬂw
mwwwmmﬁamwﬁmwmmwﬁtm

-z TIRAY O%= FE?
(A) ~ (B) 2x
I A

@a,a'g@
(a7 4

28. The variation of displacement with time of 2 simple harmonic motion (SHM) for a particle of mass
m is represented by ¥ =28in(—7;-+¢} cm. The maximum acceleration of the particle is
\

( N
mwﬁm&mﬁ,mﬁﬁﬁ%mﬁwm-mmﬁ )’=25iﬂk7—g—+¢)cml
7gB7 7S L
(A) Z cm/sec? @B) - cm/sec?

2 2m

2

© = cmfsec? D) = cmisec’

2m y s

o — 'R

RN SRS S I -

edutipsiin Q mﬁwwmaaammﬁmwm-sduﬁps@mmwf
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. the circuit shown in ﬁgﬂ@% (=1
jtors 1 B P
dszcapﬁm [=] =%
rodnthe 1 KX 22 TR S T
. What arc the charges S0 Pl
B N bamomo sty o g M T
e (1) R oo P
4k}
1kQ 2kQ 5
i (=]t (]
4kQ 2uF 2z
[=]
| - —
|ev
C and (9R) 8 pC
(A) 8 uC and (4%R) 4 pC (B) 4puLan
«®) 3 uC
(C) 3 pC and (9%%) 6 pC @) 6 pC and (4R) 3 p

30. Three different liquids are filled in a U-tube as shown in figure. Their densities are p,; P, and p,
respectively. From the figure we may conclude that

o el @b U= fomf o o wames wea am GR p, |
s Nl LI R | SHeralera g TS p, p, TRP;

Ff:ffs&\\\\>\\\“
(=]

(A) py=4(p, ~p)
(B) _P; = 4(p1 =P,)

. (D) p3 =E.1_.'_"_EZL
 edutips.in  Q (RTBI FICSTT G2 FEAA A9TSG - EduTips Stst

- (©) p3=2p,~py)

3 GETIT ON
el ® Google Play




PC-2025 (15) S
gl [=
| Category -2 (Q. 31 to 35) | ST
(Carry 2 marks each. Only one option is correct. Negative mark: My

floats at the interface of mercury and water contained in a beaker as in ﬁglﬂc. :
and p, respectively, the ratio of the volume

# Edutips

31. A piece of granite
If the densities of granite, water and mercury are p, p
of granite in water to the volume of granite in mercui'y is

E@'ﬁlﬁ%ﬁaﬂmmwemw % JI AT epiR| IR fi1ED, BT G, AR T
AT p,plﬁﬂpzﬂ,wmwwmwemwﬂmmm‘

HeANS A
E-J%E]
2
- - E ;

Py —P
P—P1
| P1 P2 | P
) —= hit 7
) o D) o,
3. 10% photons of wavelength 660 nm are emitted per second from 2 Jamp. The wattage of the lamp
s (Planck’s constant = 6.6 X 107 Js)
awh A oS G 660 nm SFACTHA 102°ﬁwﬁﬂﬁef@m|aﬁmemm
(20iEa &7 = 6.6 % 10724 Js)
(A) 30W B) 60W (=] w8 [=]
(C) 100W (D) 500W '@ :
33. The apparent coefficient of expansion of a liquid, when heated in a copper vessel is C and when
heated in silver vessel is S.If A is linear coefficient of expansion of copper, then linear coefficient
of expansion of silver is
b ORI o DaY A G S A o QT T € R D AT G O S IS
e e acnwmmwmw opiIe @elfE T3
c-8-34 C+34-8
A —a ®) ——=
3 3
- S+34- C+5+34
F (©) ﬁ%{_—g © =5
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a tretChed string is givetl Y :
The equation of a stationary wave along a5
34, Theeq .
| | ' t nodes 18
= 3 4 eentwoad_]accn n

d 'I'h 1 |mtw
y i i
e x

aﬁ%wmmﬁﬁamﬁwvﬁ

y=Ssin—1gx-—cos4(}m

e 1 At
mmxmy—amcmmt—ammlm%ﬁa

R g TR o sen
(A) 1.5cm
14 cm

35. Temperature of a body 0 is slightly more than the temperature of the surrounding 6. Its rate of
cooling (R) versus temperature of the body (0) is plotted. Its shape would be

@7 T O (0) Ao v SiemEt (0,) SorE Ay @R | e IEbg Siviwal (0)-3

S R ()47 ol 2 :

LR ‘2 .
(A) > El'g[ﬂ

EI -
AR
AR
(©)
D)
—> 0

G  edutips.in
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Category -3 (Q. 36 to 40) i N
(Carry 2 marks each. Only one or more options are l:orrect. No negative marks) - s

36. Let V, V., V,, denotes the mean speed, root mean square speed and most probable speed of tl;ei

- molecules each of mass m in an ideal mon i
oatomic gas s ‘.
statement(s) is/are correct? gas at absolute temperature T Kelvin. Which

(A) No molecules can have speed greater than J2v
s

(B) No molecules can hav : ‘V )
= ¢ speed less than X f'_l] of
© Vp <V<V_ . = |

(D) Average kinetic energy of a molecule is %msz.

o <@ SRAIRES WO V, V,p,,, V,, 201 T 21507, 71 1535, 74 Ter-c3at 1 e
E@Iﬂm T R R G G- RS SR &3 m 7031, N5 AT 70 (D / i

(A) @ISR w2V, e @R 2@

1%
(B) G S sifort %;2— (T T LS AT |
©) V, <V <V

3
D) S G s ZmVP2 1

[=] 3 =]

[=] &

of nucleus is denoted by ‘Ey,’ and radius of the nucleus is

37. Let the binding energy per nucleon
64 and 125 respectively, then

denoted by r’. If mass number of nuclei A and B are

ﬂﬁﬁ@@ﬂmﬁ%&nmﬁ@ﬁiﬂmm@rﬁﬁmﬁﬁﬂmﬂ,@i@mmBiﬁﬁ@ﬁﬂm
JiwE SR AT 64 aR 1ﬁ,ﬁﬁﬁﬁ@mﬁammﬁ/mﬁm?

B) ry>rg

(A) ry <13

(C) Eppa > Epnn (D) Eppa <Epnp
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38, A wave disturbance in 8 medium is described by y(x,2)= 0.02003[ 50t +-;-I-J cos (]0%)-Wha
x, y are in meters and ¢ is in second. Which statement(s) is/are correct?
(A) A node occurs atx = 0-15 m.
(B) An antinode occurs at x = 0-3 m.
(C) The speed of the wave is 4 m/sec.

(D) The wavelength of the wave is 0-2 m.

oY
"
(o]
MR SN 1
VAN 2PN (1) = 0.02c08| 500,
OO 3, -6 58 6 z cos(10m)
' 49 TGS | Nsw el
TG A/ e
(A) FOH 0 G G T x = .15 gy /PR iwy
(B) Sty
m“ﬂﬁmmmumml
© W’Tﬁwmmfm,
D) Stz e 02m|
e
| ri
). Ifthedjm . @ﬁ
enS]l_')nsOﬂ
constaﬂ s cn areexpmssed x
‘Jﬁtlmﬁa of light ang Planck G Ch Where G, Cand 1 are the universal gravitational
Rl X § Constant respectively, th
- TR a5, TR G, C R b w267, 10 TH0
27 2 @ xl 1
(C) y::..];'z___‘_“?- ) x'-_2“s2=-2-
27 2 3 1
D) y=-—,==
2

s w

3 {EH I C]
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V\'
k.

ms P

40. Twospheres S and S, of masses m_ and m_ respectively collide with each other. !nmaih 15 at rest

A4

and S, is moving with velocity v along x-axis. After collision §, has a vclmt\y ~ in a direction
pcrpcndlcular to the original direction. The sphere §, moves afttr collision

—

: m
(A) with a velocity of magnitude -;2 v
1 w
. {1 _
(B) with a velocity in the direction 8§ = tan ‘1__ ‘ to the r-arnis

o155
&) :‘-ﬁ

(C) with a velocity whose direction makes an angle 0 with the xans such that

\
0 = tan ‘(kl)} or 8 =tan | E

!
5\ -~

(D) with a velocity of magnitude - ¥y 3

5, wretre PG W) aofazsra 5, creah fig a0

m, G m, WM"WW‘J £ |
snaal wufis ofsrars's #% 2943

xmw‘@mm;wﬁﬁaﬂs ¢

5 st
-ﬂf%’mﬂ‘ﬂﬁl wﬁdzﬂs ol T2

my, NS \

M 22 qee ofewn SE1
(A) | 2 { l\

a1 e @ta)
oferas 0 =1an |
(B)x-mﬂw fecam 0 L 3 -
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PC'I"‘: | v E E
CHEMISTRY EIH
Category -1(Q. 41 to 70) | » i
1 mark each. OMﬁne option is correct. Negative mark: -')
ectrons and the hybridizaﬁon of Xenon (Xe) in XeOF, are
qag AP -y

R R A
B) 1, dsp’

(A) 1,sp’
(C) 3,dsp’ (D) 2,sp'd

(Carry

41. The number of lone pair of el
XeOF, S90% Xenon (Xe)y44

42. In the following reaction, the major product (H) 8
S RS g Ritsmene wal (1) @

0 :
i) MeMgBr/dry ether, 0 °C

Cl\/\/lL ii) 1,0° -
Me
0
> . Me\/\/l‘L
Me

0 CH,
e [ :L - ® Cj\/
0 Me (6) 7
43. Increasing order ili
mmg order of the nucleophilic substitution of following compounds i [=]
| s is =l
Ap Aetefera REBFRFR efgeitra Seeaprad ze T
e

Cl i
f Cl
[ ] NO,
CH, :
1 ?;2 NO2

I

(A) I<I<I<IV v
(€) I<II<I<IV (B) H<I<IN<IV
D) IV<lli<ii<]

G edutipsin Q @B i
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g

44. Which of the following hydrocarbons reacts casily with MeMgBr to give methane?
Ay PRreREIeR g @b MeMgBr-43 3ied sege feat ava firgsr Bevm aca 7

(A) A - @

© (D)

45. Adiabatic free expansion of ideal gas must be

S SO FHeIA & oA @
(A) Isobaric (375191) (B) Isochoric (FNSITSS)
(C) Isothermal (37zaiae) (D) Isoentropic (SRFNGAGF)

46. Anoptically active alkene having molecular formula CgH ¢ gives acetone as one of the products on
ozonolysis. The structure of the alkene is

CoH 4R SRR Sitaian o wriafdes staf@Htm sac snHde b Rivgers
omd B Besn 71 | SyEfdaa s 2

CH,4 H
CH3\ /CH3 \C—C
(A) C=C ® s N
/ CH; CH~—C,Hj
CHy CHy——(C,H,
CH,
Calls CH, CH, 215
\ P \ /Cl{3€1{3
(C) /L:C\ (D) C=C IE&'.’-_;.:
AN
CH,

47. 360 cm’ of a hydrocarbon diffuses in 30 minutes, while under the same conditions 360 cm’ of SO;
gas diffuses in one hour. The molecular formula of the hydrocarbon is

M aBrgtadEE 360 cm’ A1 206 30 G 5 s, TUH I 08 AT SO, 7 e
o | 991 e G | ZRgtadafba A T

(A) CH, (B) Gl

(C) C,H, (D) i,

LI
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| :_. PC-2025 (22) Sl
Py 48. The number of terminal and bridging hydrogens in B,H; are respectively =]
B,Ha 2181 @3¢ RfeR QRgiten=a et 2o G
(A) 4 and (€3%) 2 (B) 2 and (9¥R) 4
(C) 2 and (43¥) 2 (D) 4 and (43%) 4
49. The major product (F) in the following reaction is
ocH, o
¥
NaNH,
in liquid NH, 3
Cl
(A) o-Anisidine (B) m-Anisidine
(€) p-Anisidine (D) p-Chloro aniline
N4 Rz s Ridmrers gaf (F) =
OCH;
P m&HaaF
Cl
(A) o-SuifRfifEs (B) m-=uiffifs
(©) p-=ufafifew

(D) p-Gra wyiffem []%R 3]

5%

S0. For a chemical reaction, half-life period (?; ) is 10 minutes. How much reactant will be left after
2

20 minutes if one starts with 100 moles of reactant and the order of the reaction be (i) zero, (ii) one
and (iii) two?

G G TR RS Segwr= (¢, ) 105 120 ARG vica v e sttw 2 1 100 mole
2

R e Rz o a1 2 o= Riferms @ @ (1) =, (ii) & G (iii) TR 2
(A) 0,25,33-33 (B) 25,0,3333
(C) 33:33,25,0 (D) 25,33-33,0
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CE PUSZUED (Ld)
/2 Edutips S e Lo -
1. Equal volume of two solutions A and B of a strong acid having pH=6:0and . _ % B
pH = 4-0 respectively are mixed together to form a new solution. The pH of the new il
solution will be in the range '
(A) between 5 and 6 (B) between 6 and 7
(C) between 4 and 5 (D) between 3 and 4 _
i < O TIPSR 46 @< A @3¢ B T pH IEFH 60 9 4.0, TSOG RS FE @I
g 734 2 391 T | g FeAHR pH-ag A T3
(A) 5 9] 6-43 TO (B) 6 93 7-93 Sy (=] a]

(C) 4R 543 0P (D) 3 gR 493 Y =

52. P and Q combines to form two compounds PQ, and PQ,. If 1 g PQ, is dissolved in 51 g benzené,
the depression of freezing point becomes 0-8°C. On the other hand if 1 g PQ, is dissolved in 51 g
of benzene, the depression of freezing point becomes 0-625°C. The atomic mass of P and Q are

(K, of benzene = 5-1 K kg mol™)
P 3 Q IS T 4B (5 PQ, € PQ, 4o I(A 13 1 g PQ, (F 51 g QT 7S 371 W, O AT
T T 0-8°C | SRR, 1 g PQ,-(F 51 g (RI&A wige a1 e RAee o 2 0-625°C |
P 3R Q-7 AR 3 26 (RI&TA K, = 5-1 K kg mol™)

(A) 35,55 (B) 45,45

(C) 55,45 (D) 55,35

53. Identify the major product (G) in the following reaction
e i R Sen ey RiFnere vl (G) ¥He 79

o
H

Br

Br
© Z N/O/ D)
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Ok50]
i jii) 1M CaCl (aqw%
54, Increasing order of solubility of AgCl in () H;0, (i) 1M NaCl (aq.), (iii) 2 (agrey
(iv) IM NaNO, (aq.) solution .
AR craefite AgCl-ad Tl e e . |
@ H,0, (i) 1M NaCl-q3 &t &, (i) 1M CaCl,a% Tad 731 @} (iv) 1M NaNO;-3

w53
CaCl,> H,0 > NaCl > NaNO;
NaNO; < NaCl < H,0 (B) 2
(A) CaC12 ) 3 , (D) CaClg< NaC]. < H20 < NaN 03

(C) CaCl,>NaCl>H,0 > NaNO;
[=] % [=]
[a] 22

55. Arrange the following compounds in order of their increasing acid stren gth
A5 Aetefe o witie s Brawipie Aese

_-CooH COOH
HO,C(CH,),COOH  CH; | CO,H(CH,),CO,H
— COOH
I I I v
(A) I<ID<M<IV (B) IV<Ili<II<I f'
(C) I<IV<II<II (D) M<I<II<IV i

56. Which of the following hydrogen bonds is likely to be the weakest?

Wmiﬁ@mmmwmm?
(C) O-H-0 0 e =

57. How many oxygen atoms are present in 0-36 g of a drop of water at STP?
I Sl Gk BITat 0-36 g TrFR GF oIS Fouf Sk BRI e

A) 6:023

(c) x 12: (B) 1205 x 102
6023 x 1

o (D) 1-205 x 105
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[=] 324 [=]
The molar conductances of Ba(OH),, BaCl, and NH,CI at infinite dﬂuﬁdn m — 280@3 L
1298 S om’ mol! respectively. The molar conductance of NH,OH at infinite _ﬁﬂuﬁoi; 0and

Ba(OH);, BaCly @ NH,CI BT S 98 Gt et 52328, 28006 1298 5

(A) 12572 S e’ mol” (B) 251°44 S cm? mol™ ' "
(C) 502:88 S cm’ mol™ (D) 754:32 S e mol™
(=14 [=]
59, The common stable oxidation states of Eu and Gd are respectively Fﬂ
Eu €@ Gd-43 e FT Sieis I
(A) + 3 and (9R) +3 (B) + 3 and (GR) + 2
(C) +2and (9R) +3 (D) +2 and (493R) +2

60. Which one among the following compounds will most readily be dehydrated under acidic

condition?
fsfERe @atafFEm S @ﬂﬂmmﬁﬁwmmﬁﬁ?@ﬂm?
O
OH
i 0 OH
D)
C
” \)k)\ R E
HO m§%
6l (B4 He' > X+ on’
In the above nuclear reaction X’ will be
Sofatw fedw Ritrmm X0 = .
a) .N* B) ;N
© (C12 (D) 7N12

~
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PC-2025(26)

62. An LPG (Liquified Petroleum Gas) cylinder weighs 15-0 kg when empty. When full, it w
30-0kg and shows a pressure of 3-0 atm. In the course of usage at 27

is reduced to 24-2 kg. The volume of the used gas in cubic metre
atm and 27

eighs
°C, the mass of the fu]] cylinder

at the normal usage condition (1
°C) is (assume LPG to be normal butane and it behaves ideally)

«m#mmm%@@mﬁmm)ﬁﬁmwwﬂkgn‘sl%’wnﬂﬁ‘wmso-()kgw
< 3 atm Bist e w127 °C SRy

IR ©f ez eom a2 24-2 kg | 49 IRee
= (1 atm @ 27 °C) Iage "IICTR ot (7 FBICA) 2 (4 8 LPG 2 ettt g sy
R G S ST HIH )

(A) 246 m? (B) 246 m’ S
©) 0246 m’ (D) 2:46 m? (=]
63. What is the four-electron reduced form of 0,?
(A) Wﬁu (B) Peroxide
(©) Oxide (D) Ozone
O, T 52 Rwifis o e
(A) i wrfzw (B) =iz
©) ==ifze (D) ety
64. Kj .
K]eld;:l ﬂ;;m‘)d cannot be used for the estimation of nitrogen in which compound?
&
i mcfa@m *Taore TR AR Refer o2t e
(A) e
(B) cn, d
\COOH
© C6HS"'N=N"C6HS (D) CHCH/ : EE%E
3
65. Which of \COOH
of the following Compounds is mogt Teactive in §y 1 reaction? =
ﬁm@mﬁawmsnlﬁm’ﬁm R iy e
(A) DBr (B) T
Br
= H
©
Br
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i, PC-2025(27)

' -Th coagulating POWET of electrolytes having ions Na*, AI* and Ba?* for As,S mlmmm Ji
. e E I Al e s
(A) A< Ba®* < Na” (B) Na*< Ba™ < AI*
() Ba*<Na'< AP (D) Al*<Na*< Ba*

¢7. Ifthrec elements A, B, C crystalise in a cubic solid lattice with B atoms at the cubic centres, C atoms
at the centre of edges and A atoms at the corners, then formula of the compound is

i A, B, C T GlieT it S0 0BT Genire T B #aiioefl 97 (0, C #RIef 213
TR GR A AFafE @it A, $rR @ afitd Jes W

(A) AB,C B) A;BC
(©) ABC, (D) ABC

68. Which of the following oxides is paramagnetic?

FefRe vl s @b ARREIe
(A) SO, (B) NO,
©) sio, D) CO,
o =G
- How many electrons are needed to reduce N, to NH,? Es g
NG NH, o e 9976 b ZerGre oaem =i
(A) 3 (B)4
© s D) 6
]
0. The bond order of HeH* is
o el e o
2
5 D) 4
-

edutips.in Q@B FTereR 93z FeRFH WG - EduTips S5 SIBACEAIG A
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OREHO

Category -2 t(in-l';: 3,-33::. Negative mark: -42)
' . Only one optio
(Carry 2 marks each. O

e boilin
1. An egyg takes 40 minutes to boil at sea level where the boiling

ili int of
takes 8+0 minutes to boil on a mountain top where ﬂ;)e li)]gnﬂ;nff[;; gis
energy for the reaction that takes place during the bo

point of water is T1 K, whc.rc as it
water is T, K. The activation

G L6 VAR AU |
wmwwﬁmwn&wﬁﬁﬂﬁﬁmwﬁﬁfgﬂﬁﬂ;&:ﬁm. .
M‘éﬂﬂﬁ‘&ﬁ@ T, K, foufe fre 20 ¥ =iies 8-0 0 | R R
FfFaaas =% (activation energy) 2 EHE

T,-Ty :
| o R
(A) 0693 TTll < ® 0693 EIF%E. ;
T,T
LT § 12
©) 0.693R21_—-'21'; @) 0693R =

72. As per the following equation, 0-217 g of HgO (molecular mass = 217 g mol™!) reacts with excess
iodide. On titration of the resulting solution, how many mL of 0-01 M HCl is required to reach the
equivalence point?

MNes= = SEIM 0217 g HgO (WWW:gI?gmor‘)w%@@wwﬁcwﬂmﬁ@mml
&S T S el R cTeiee %6 mLL 0-01 M HCl =isfz3 2

Hgo+4r+H20 _______h_Hngz“+20H_ E]gﬂm

s
o ® 20mL o
© fomt (D) 5mL
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PC-2025(29)
CH3CH2CHzCI (i) 02/ OH-, A
» P — —= Q+
A.Dhy AIG3 (ll—) diL H2804
The maror product P and *Q’ in the above reactions are al
Pz ATekTs ot RiFaee oy P @R Q&= =
K 4
CH,
A) | and (€2%) CH;CH,CHO (B) and (4K) >= 0
. A
oy 0
and (€@) CH,CHCH
(C) and (4R) /C 0 wal
R CH,

~
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O
ith equilibriym,
: = PCL(E)* Ll (@) wi .
74. Consider the following gas phase d‘m::: o:t' " P. The degree of dissociation (@) for
" constant Ke at a particular temperature P
; PCis(g) ’ FefRe Rumw Rism Sgwes K T, PCls(g)‘*Tﬁ
8 Stetmar qae ies (P) G et
Romem wat o7
PCls(g) = PCl,(g) + Cl,(g) E_ ; 0
| K
~(Ke V" (®) a "(E‘irfp) &
A a-= Kp+P p

172
- _Kp
© ““(Kpﬂﬁ)

7S. Compoung Biven below wij) Produce effervescence When mixeq With aquegyg 8odium bicarbonate
solution
s o ey T @ iy
bl Wwwmm
NO,
)0l

2

s ) CI-I3C()(:H3

DH OH
© b
‘G ) e
No,
e
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- OnCﬂtegory -3 (Q. 76 to 80)
ks ea e or more options
(carry 2 PHIOnS are correct. No negative marks)

WhICh of the following statement(s) is/are correct about the given compound?

m@mm?ﬂmwﬁ?w AT/ e Hfs

O O
(=] 553 [8]
OC,H; e
Ok
(A) It exhibits tautomerism. %
oS TEIERE e | \,g £
@) It does not react with metallic sodium.
4f5 greg T il Rierm @ =t
(C) 1t gives reddish-violet coloration with FeCl; solution.
o @R PERE T AE-ReF 7R Teow I
(D) It gives precipitate with 2,4-dinitrophenyl hydrazine solution.
a5 2,4-SlRmTRrGiReIZe QRGIem FIc] X Ol
odynamic system. Which of the

7. Xis an extensive property and x is an intensive property of a therm
following statement(s) is (are) correct?

X . . .
(A} $Xixexteasive. (B) — is intensive. %
El i

£~ is intensive.
(C) is extensive. (D) 1

e IR T
mmﬁ'ﬂ%ﬂﬁmmmxmwmﬂﬁﬂﬂﬁwm‘w il
I/ @mef e
X W
(A) xX w3 o ®) x W
CR— o & =P

po 5 5 L GETITC

G edutips.in Q@ TS @a2 FeAATIA WAHCEE - EduTips ST TSRS ewa! . Google Play




ﬁ;ﬁ? Edutios Pc-znzs ( 12 ) EI &
. ated bY prcclpltauon method? : %

llowing can be S6P2

| . among the fo B I IS IR
sl ﬁamma‘i’m@mmﬂ"mmpl ?
ARPRS SO
d (9R) Dy(III)
(B) Gd(IL) &7
d (@) Dy (11D d
S ::d ium) Yb(D () (D s0d (470 G40
(C) Eu(ll)
_ I
29, The compoun d(s) showing optical activity lﬁfaf; |
7@
o s/ oty ST o BRI
COOH
COOH
o — OH
(A) HN— H B)
H (g
COOH
CHO H
\ H OH
C
© / \OH ®) H OH
CH,0H
COOH

80, Identify ‘P’ and ‘Q’ in the following reaction
a7 RfFrm ‘P @R Q'3 "HIE I

[Cd (NH3)4] (NO;); +KCN+H,0 ——— P + KNO,; + NH,OH

l H,S

(A) P=K; [Cd (CN)), Q = Cds :

(B) P=CdS, Q=K, [Cd (CN),|
(C) P= Cd (N03)29 Q CdSO.‘

(D) P=[Cd (OH
G edutipsin Q m%ggmggz'qmégqm@immﬁgﬁﬂmm' ."g;i;gleplav
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